
petal_length <= 2.35
gini = 0.657

samples = 100
value = [46, 62, 42]

class = l

gini = 0.0
samples = 33

value = [46, 0, 0]
class = c

True

petal_width <= 1.75
gini = 0.482
samples = 67

value = [0, 62, 42]
class = l

False

petal_length <= 4.95
gini = 0.14

samples = 39
value = [0, 61, 5]

class = l

petal_length <= 4.85
gini = 0.051
samples = 28

value = [0, 1, 37]
class = a

gini = 0.0
samples = 35

value = [0, 58, 0]
class = l

petal_length <= 5.45
gini = 0.469
samples = 4

value = [0, 3, 5]
class = a

sepal_width <= 2.45
gini = 0.48
samples = 3

value = [0, 3, 2]
class = l

gini = 0.0
samples = 1

value = [0, 0, 3]
class = a

gini = 0.0
samples = 1

value = [0, 0, 2]
class = a

gini = 0.0
samples = 2

value = [0, 3, 0]
class = l

sepal_width <= 3.1
gini = 0.444
samples = 2

value = [0, 1, 2]
class = a

gini = 0.0
samples = 26

value = [0, 0, 35]
class = a

gini = 0.0
samples = 1

value = [0, 0, 2]
class = a

gini = 0.0
samples = 1

value = [0, 1, 0]
class = l


